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— 9512 30795 NYOBY AR PPYY INY
And if he claimed and said, I descended for fruits, etc.

OVERVIEW

7°21 27 ruled that if the p>1in told the 7y7vn that he is in the field for the NM17°5 only
(but he did not buy the field),' the p>1rn is believed regarding the M7 which he
already consumed that he need not pay for them. The reason given is that no one
will be that brazen to consume someone else’s N0, unless he has a right to them.
mooIn qualifies the case and explains the necessity for the abovementioned reason.

— NYIN INNA 5P92 IN1I 19D 99N 23 AONNH vIN9
The explanation is that this claim of °n77> M70% was made initially when the

v7vn asked him RPN SR72 n9Y2 9RM; but not that initially he claimed >1°21 7» and later
(when he could not find 71pin7 >7Y) he retracted and said *n77° b,

Mmoo anticipates a difficulty:
— NP MY 91297 )N NN KDY 20¥Y 51D NTWH Jya NN YONY NYWAT 2) DY 9N

Even though that while he was eating the n17°5, the owner of the field could
have prevented him from continuing to eat, and the 1172 would not be believed
to claim 107937 N9, so why is he believed regarding the past?

mooin replies:
— 19 /929D 999D 1IN NOXIND XA N IVON 929V 1999 1790

Nonetheless since the P11 ate the N0 already, and the 7v7y» comes to take it
away from the p>1n, therefore the P 1 is believed to claim *n723 nyvs®.

nooIN asks:
— 205007 DIVN %Y PIDIN O8N KT DIYN KON N INN ON)

And if you will say; why mention that the p>11n is believed because no one is so
brazen to eat the M17°d that do not belong to him, the same ruling can be derived

! See K A"7 0"awA that the Pimn claims that he is employed by the 1y7wn as a sharecropper, or that he bought the
rights of the NM17°d from the 7y yn for a specific amount of time.
% In this case he will not be believed since he is a 1911 NN (see 12°an 7"7 2"awn). This may be the interpretation
which nvoIN is rejecting by saying w179
> Moo has just established that the rule of »X1 by >n71° MY is only concerning the M~ which he already
consumed (and the 7w1y» wants him to pay for it), but not for future M9, therefore NooIN asks that the logic of X7
7°%11 is unnecessary; we can derive the same ruling on account of P77 1°2¥ 11" 2mn XXM,
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because he already seized the M and the onus of proof is on the 9y7wyn who is a XX
1°amn. This is -
— JANI 2752 17 PHPY 9N INT 29UNDY DIRWNY PHYY PRY PIVIVNAN MNT SN

Similar to movable objects which are not made to lend or to rent out, in which

case if the p>mn of these PHvoun says, ‘I bought them’, he is believed, even against
a known Rnp X %. The reason is because (by 12u%0n) possession determines ownership. The same
should apply here by °n77 m7°9% regarding the M which he already consumed. We do not
know whether he had the right of °n77> M7°0% or not, therefore we maintain the status quo; for
whatever he consumed he is D, but he cannot continue to consume.

N1B0IN answers:
— 1113 D590 RYT 15V )XY MY N1 JOPY BN 998N KYT NAYO PIVEINT 9199 ¥

And one can say; that the reason of n°2n XY is necessary in a case where the
P17 harvested the M0 (but did not consume them; they are still here), and he
placed them in a domain which does not belong to him, so he did not seize

them; they are not in his possession, the law of X177 Y9y 1Pann XX does not apply here.
Nevertheless he is believed that *n77* M7°0% and is exempt from returning the M7’ because of X?
nox.

nooIn asks:
— PHYRVYT TN %9 DY 72 DINT N0 ININRT NIN 1799 7119°9Y 93 9N XD 23 99NN ON)

And if you will say; even in a case where the p>11% did not claim >n79> ny°5b,
but rather brought witnesses that he consumed the n17°0 for two years, as this

case of our X3, nevertheless -
— 519 MI29Y AN YA INT NN NINIYLA 41’32’{) N

He should be believed with his claim that he bought it from the qv7v2 with a o
that he could have claimed >n79° ny1°55!

mooIn responds:
— S)"P‘)‘pﬂ ) WANY N2 Y9NY 11919 NT PNRT NN NI IND

This is not a challenge! For it is not a valid 33, since the 11772 comes to claim
the ypap as well; not only the ms.

* mooin is (seemingly) asking that he should not be required to return the M5 of the two years, because he could
have kept those M9, by claiming °n77° N9, so even though he claimed *1a1 711 (for which he is not believed
concerning the ¥p7p), nevertheless he should be believed regarding the n17°5. See ‘Thinking it over’.
> His claim is 121 931 which (if substantiated) would give him the ¥ and the m7°5. We cannot say that he had a
‘better’ claim of >n77> M1°97, since that claim at best would give him only the n11°9, but not the yp7p.
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mooIn concludes:
— 9991 RY HOYYILY NIYT 9999 DAN 1971 IV ININT 2999 RPN

And the P11 is obligated to return only the n19%» of the two years (for which
there are 0°7v that he consumed them), however the n19°2 of the third year are

not returned to the 7w vn, even though the P>1mn claims/admits to eating Mo for three years.
The reason is -

Y99% AN YPIDN B PIY YWIY NYINY ININT INDA )50 INT
For if the p°1n is believed in that which he said that he ate n17°0 for three years
(and therefore we obligate him to pay for all three years), then even the land
should belong to the p>1mn for he has a 2w s nprm.

SUMMARY

The claim of >n77° M7°5% must be made initially and does not allow for the P11 to
continue eating the M0, however it allows him (even) to keep the m7°2 which are
not 1MwI2. There can be no n of *n77° NM7°97 since it is a weaker claim that 7°n
°1°21. The p 11 returns the M7 of the two years (for which there are 0>7v), but not
for the third year, for if he ate three years he has a 7117 and should keep the land.

THINKING IT OVER

mooIn asks that the P°1n should be believed regarding the M7 even if he claims
>1°21 71 [and brings 0°7¥ that 221w '2 %K), since he has a wn of *nT mob. Tt is
evident [from m*:JCnﬁ]8 that in a case where there are no 27V and the P17 claims
°1°27 71°1 and he ate M0 for two years that he must return (the yp7p and) the M7
of two years, even though he has a 1n (regarding the M) of *n?ox 85.° Why is it
that in this last case the 121 is ineffective (and he must return the n17°9), while in
our case Mo claims that he should be believed with a 13°» of >n71> M52 1°

APPENDIX
A possible solution to the ‘Thinking it over’ question. There is a difference

% See previous Moo on 3"71 7" 8,37 (footnote # 30). We will assume here that he only ate M0 for two years as the
o7y testified.
7 See footnote # 4.
¥ See previous 3"7171"7 X,39 ‘oI
° The reason (seemingly) is because we cannot differentiate between the ¥pp and the 0. Since the ¥7¥» receives
the ypp (for there is no 7p1) he also receives the M7°5. The same should apply in our case that even though he has
the 21 of °n77> M*Y (regarding the N17°9), nevertheless we cannot separate the Mm°d from the ypap!
' See "1 and v¥p MK 7"210. See ‘Appendix’.
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between the 1%°n of *noX X2 (when he claims 2°3w '2 °92X1 °1°271 1°1) where the rule
is 0 X7 KYIR 77 (for the two years), and the Wn of *n7> M7°0% (when he
claims °1°21 72°2 and there are 0>7Y that he ate two years) where Mo0in asks that this
13°n should exempt him from paying for the n17°9 (even though the land reverts to
the v wn).

When the 117 claims °2°27 7 and I ate the m7°d of %W '3, the ypap reverts to the
qv7yn (since he is the ¥np X71) and once we establish that the field belongs to the
Tyyn inevitably he is owed the M’ that were eaten 7132, If the qvwn would have
claimed °>n%5x% &% (and therefore no 7p11) and the 7wavn would argue that you ate "2
071w, indeed the 172 would be mwd for the M9, but not because we believe him
or grant him any right to the M7, but rather only because X777 1" 177201 XWX,
and as long as the 7y7vn cannot prove that the P> ate the M0 the Po1mn 1s 7L,
However if the 117 admits that ate the NM17°9, we say that since the field reverts to
the P>, the won of *nvaR X2, which does not give the p>1in any rights to the Mo,
is not sufficiently ‘strong’ to deny the 7v7yn his payment for the m7°9, for since the
field is his (as a Xnp Xn), the M17°0 are also his.

However in the case where the > has the 1% of °n77° M09, this Wn gives the
PInn a right to the M %0 (because of the X120 of 7p¥n &Y). Had the p i claimed
N7 M7°9? not only would he be exempt from paying the wayn for the n7»
which he consumed (because of X777 1°7¥ 17°amn X°¥n), but he would be able to
retain the n17°9 which are here and are not (even) in his MW" because of 7xn RY. It
is the view of mooin that since the mvw of *n77> M07 gives the p i the right to
the Mo, that should be sufficient (as a 13°2) to deny the v ¥n payment for these
Mo, even though the 7v7yn receives the field; taking into consideration that we
are not (as) certain that the field belongs to the 7y7yn (he receives it only because
he is the X»p X [and the XMy» of 7VW "INKX]), but we are (more) certain that the
Mo belong to the wwn, if he claims *n77° M9%. This certainty should outweigh
the rights of the 2y1wn (since the P>1n has the wn of *n77 MY).

[n1900 concludes that there is no 13°» since it is a Y1737 13, ]

We will now also understand the order of m»oIn.
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Initially m»oin states that the claim of >n77> M7 is effective only if he initially
claimed it; indicating that there is room (even for a fleeting moment) to consider
that *n7° M7°0% may be effective even later (for it is such an effective claim).

After npoIn establishes that N7 M°9Y is not effective for the future N9, but
only for those consumed, Mo0In asks why the need for 7% X?; it is a regular case
of 7"yn. MooIn responds that the X120 of 7°¥n RY is necessary where the M7 are
still 1P¥2 and not P 1na MWL, and nevertheless the p 1 gets to keep them. Once
mooIn establishes that the claim of *n77» M7°0% gives the P°1n a right to the M7,
then Mo0In asks that even if he claims °1°21 71°%, he should still be M5 from the
M7’ because he has a wn with the powerful 71vv of °n77> M7°o5.
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